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%/ CHILD DEVELOPMENT AND PEDAGOGY
o vmdy aferr fampmg Hfan

,f}?”?"‘{mﬂ quoestions by nr;_lsnctin'g_$he most appropriate option,

Which type of education would be

appropriate for socially deprived
children ?

1) Informal education
2) Bpaocial oducation AN
3) Inclusive education f:

1) Religious education

Which of the following statement is

correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect:

3) Ego-identity is g neutral
psycho-social aspecit.

1) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations

4) Conventional thoughts
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4. Frefefas 4 @ e fgime 4. Which [
' : l the folewin
qEMET h o g0 e does not hy, 19 characteristics
o 78 zodh B 7 Process of g, il;ol?llwe effect on the
1) A % A g 1) Socially g, ™7
2) Wi e fr 2) Playing affy. 9 behaviour
A A ftrgnd femn 3 Oved social rojos
8 aitn afigfa a1 fam ) Developmentgy,, . attit
A) Tl gatgdt @y frr 4) Developmen = ""rude
v ’WJ F g6y prejudices social
e : ! i“.j#;l HOwieg ax 5. Vygotsky's 'Zone f Pro, /
fafle wzan & Development' refers to - ximal
1) &= @3 @9 A w5 37 g 1) What the child ¢y 4
® independently
2) A FAA B[ g qdt g 2) ,What th® child cant go
“ gga B independghtly
— 3) What the—ichild can do with
3) F=n Al ol afd & fdem & ; ¥e) g
5 guidance “of knowledgeable
FFT T 8 » ) person <L 1
4) T fmd o afda 3 g o 4) What the child can't{ do even
A1 7 ¢ FT gHa 2 . under guidance of
knowledgeable person \
6. I Eﬁl’é faremedt orfira Suafer et 6. If a learner does not achieved the '%;5
AT G ?, dl IGHE HROT AT expected performance, what type
of testing is done to find out the
# fom e g @ ofteor B st f testing is d fi h
g7 ' ' reason ?
1) &EATHE 2) frErTeE 1) Formative 2) Diagnostic
L3) JUEEE . 4) TS 3) Remedial~ 4) Summative
' o
A
7. “TEEREE *gq  Rearm arn ah & 1. "Inclusion isﬁot confined to the -
dift =# & afes g ad e o : disabled butoit also mean no
T ETf%E,BlT q & a@ & exclusion of a?;y child."
_ ﬂ [ = iy st ﬁ?ﬂ% This meaning of inclusion inp
? education has been clarified by :
7T e fmar T #
1) o #lo THo 2008 1) NCF 2005
RT
2) o Hlo 3o a0 Ho &) NGERL .
e 3) UNESCOr.:=
A) N (RN L] 4) UN‘CEF ull
4) gHa% Ky
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[5/A]
| = .
g g REm ¥ fRe R 3 qfEds - 8. Which type Cﬁf changes occur in
8. _
B 8 ? - growth and dﬁlelopment ?
O ;
(@) TR & HR | NIECOE (a) Change imbody size
(b) TR B o 7 aREaH (b) Change in body proportion
(©) g-(rl‘{ TN hﬁ'{‘rqq (c) Disappearance of old features
(@) TE RQwarett # HAitwmET (d) Acquisition of new features
7ol e F TG BRI Choose the correct code :
B E Code : g
i —
2 -8 QI D (@, @) &)
2) (@), ®) W (d) @% oy @0 &

3) (@), (c) W (d) 3) (@), (c) & (d)

ONGREEL T D 9 @), ®), (© & (@ S

9. Frlviad & ¥ B-w Fo9 eRERoy

B o Y ) 9. Which of the following statgments
i Elvlil g does nqt explain the positive
impact of motivation on learning ?
) ;ﬁ;ﬁ?gn WEy F amer 9 aop 1) Mt_)ti{rati% impairs learning
behaviod®
2) AR WEN ¥ wEmer gy Z)M..ro‘ : o
Yy S 3 otlvatlo\'rgr)l provide = definite
) direction/® learning behaviour
3) ﬁm@;ﬁ b e [ 3) Motivation energizes learming
behaviour

) N A , 4) Motivation makes learning

behaviour selective

Level-3/1304 ]
[ P.T. 0.
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10. W % a;m __d %
I AT W s @ o
T g B
B e EiEsil
= &1
(@) =B F=igias den l
P..
(b)al'ﬁﬁaﬁqa—mi .
O
—
(c) IS a=q O
) hﬁﬁm;ﬁg’m@ o W
(d) TEs Py
Tel B W T99 Fig
F:
(@) ®d) (© (d)
2) 111 I oI Ig
4) 11 I m I[f
O
S/ SRrrTEdt Bl = 4 B e
T g1 SRV B d A9 & d=
AT g, aF 39 Fed 2
1) Jfaus d@@
2) o dEr
3) g drET
,4) wEte dEHn =

10. Match the stages of morality ...
their level, under the Mg,
Development theory of Kohlbe_vg

Stages of Morality Level of
Mora_[ﬂ?

(z) Good interpersonal i
relations

(b) Individualism and I
exchange

(c) Social contracts and I
individual rights

(d) Universal principles
Choose the correct code :

Code :

(@ @® © (@
1) 1 m o I
2) m o m I
3) 1 I I I
4) 1 I m I

11. When the learner learns a tas<
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning ey
3) Partlearning Eﬁ
4) Incidental learning

12. Which of the following statement 1S
mot true regarding biclogica
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual
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AT 2 i & o ¥ 7
(a) o (b) e
(c) @MERF  (d) urfir
7eT FT N TG Hifr
%< -
) (a), (b) W (d) !
2) (a), (b) W (c)
3) (a), (c) W (a)
%) (a), (b)), (c) UF (d)

14. frfafas & @ f9-w @ g
Thertt & del § wdl 7@ R 7

Y

1) UAFTET H 9 Tai Qe T

froares odterr &

2) o udieor  Jufs  oryar
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HT el
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T B
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1) T IS

2) W GEZ

\3) T wifsbar

4) Han farsery
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13. Which g& the following

14.

15.

examinations, are the basis of
continuous ‘Pand comprehensive
evaluation'{s

(a) Written*G (b) Oral

(c) Behavioural (d) Practical
Choose the correct code :
Code :

1) (a), (b) & (d)

2) (@), (b) & (©

3) (a), (c) ‘3? (d)

4) (@), (b).\(r) & (d)

Which of thya(:followmg statement is
not correct in referenge to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures

and fig\ges. »

‘....‘
Which of the following pair is not
correct re’@rding elements of
intelligencqgand their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

2) Cognition Operation

3) Evaluation Operation

4) Relations Content
=hRs

TN
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2) G ;ﬁésﬁi
3) JONHD S|
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16.

117.

18.

19.

Whi
kechhf :ne of the following is not
o ature of child cent “

ng approach? -
1) Meaningful

learni
opportunities ning

2)

3)
4)

Single learning pathway
Continuoyg assessment

A .
ccessible learning settings

According to B

. andura, which i

the interrelated proce scsl;ls not |
observational learning ? °

1) Attentional Processes
2) Retentional Processes
3) Motivational Processes

4) Conjunctional Processes

of

to Bandura's Social
what is it called
Jearns the sameé.
" observing and
haviour of others ?

According
Learning theory,
when a person
behaviour by
repeating the be
1) Adaptation

2) Self—observation .
3) Modeling [+

4) ' Efficacy expectation

the Sternberg Triarchic Theory

1) Meta component

Experimental component
3) performance component'
4) Knowledge acquisition comp”

et
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22. YgaE & Ed g9 ST

Rrsia & Srga w@reas Td sTgsie

SETH B & HH-TT FHlH

%9 grEs @l gdifee g sem ?

1) aFIds 2) fecifaa

3) HIa 4) T

23. fogrs & deeTs OwM fEsid @6
frg  omEm # fggw  q@

AT # gEaT faEted 8 ST

g7

1) Hag-THE

2) Ja-HiAHF

/3) ga-HiEFaes

4y ArEiE-HEEE
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20. A learning disability that affects the

21.

22.

23.

acquisition of arithmetical skill is :
1) Dy'scalculia 2) Dysgraphia

3) Dyslexg

-
Choose thbj correct sequernce of
the five stA@es of Freud's Psycho-
sexual devée%opment theory :

4) Dysmagnisia

1) Oral stage — Phallic stage —>
Latency stage — Anal stage ->
Genital stage

2) Anal stage —» Latency stage —
‘Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallicgage — Latency stage
— Genifal stage

4) Latenc{;tage — Anal stage —

Oral st&&e — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and

conditioned stimuli will most affect
learning ?

1) Simultaneous 2) Delay
3) Trace 4) Backward

In which stage of Piaget's Cognitive
Developm@ theory does the

ability of rdbstract thinking and
generalization develop ?

1) Sensorﬁnotor

2) Pre-operational

3) Concrete-operational

4) Formal operational

of
rio
- .

P.T.O
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26. Mfafeg & @ a9-a1 Tl Jafees

Rreramatt & SRS feror @ gEefe
7&T avan ? @

L) RenffEt & §g @

2) dufs SR

3) UGHRH ST |
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A s
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det A a A 7 E 7
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24. Which of the following educationaj

25.

26.

21.

arrangements shouldn't be made

for talented students ?

1) Opportunities for independent
project work

2) Acceleration —

3) Remedial teaching E@

4) Enrichment program

Which one of the following is nof a
principle of inclusive education ?

1) Principle of segregation

2) Principle of cooperation

3) Principle of celebrating diversity
4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students

2) Individualized instruction

3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educationa)

institutions in addressing the needs

of children with special need ?

1) A.dmission to school withoyt
discrimination

2) Provi

) ‘rowde accessible
Infrastructura] facilitieg

Identify their Special

and exclude

mMStrea_ming

4) Provide
Services

3)
Needs

them from

Necessy
2 f SUppor
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4) o g om § 8x @ o
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29. R Ren & Bomrh frgd e
BN Sfqaiee R w2

1) By, fR wd R
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4 e, 3N W e

30. “HHRIETT oo ¥ ol et

H ARG O AR @) g
R R g & Y

) S S
3) /A

2) Mz
4) BAF

28,

29.

30.

[11/A]

Which of the following statement is
not correct in

context of
detelopment ?
(00

1) %Developmem is the product of
—Raturation and learning.

O .
2) djater development is more
critical than early development.
3) Development proceeds from
head to foot.
4) Developmént proceeds from
central axis to extremities.

The three dimensional model of
L~ : .

themy inclusive

prqgounded by whom ?

1) @riffith, Cooper and Ringlaben
2) ‘E‘;artuer and Lipsky

education

3) Kauffman and Hallahan

4) Levenski, ‘Davis and Hooper

"Socialization means attaining of
maturity in social relationships.”
This definition of socialization is
given by whom ?

1) JohnDewey 2) Garret

3) [Sorenson  4) Hurlock

l?' -

.
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3 / ENGLISH
Directio

n : Answ i i
er the followmg qtl(i?tlons b

Note it down
forget ijt.

...........

417,

48,

Option

The Pak 4y Y turned hostile |,
ISIS.

~1) to 2) for

3) at 4) with

49, Choose the correct

Passive of the
given sentence :

Please give me some more time,

1) Some more time might please
be given to me.

<2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

1

L\

Ty EW ‘304 ]

J
?:ﬁ-,

ion.

t
.ate Op —
yopx!
y 3?r‘luct1ng the mM

wing options

follo ' f the
the ng of the
50. Which of ; meani
eXpress the co”eclow ?
sentdglbe given Pe h the college _
No spgner did 1 1eac W
than ge bellrangd. wached the
B g
ROORSE bell | i
K Thl?e e the earlier the :
clo sg ) 4
rings. -
2) I reached the college and
bell was rang after.
3) Although I reached the college
the bell began to ring.
+%) As soon as 1 reached the

51.

A2)

c&lege, the bell rang.
—
\\o)

Char{;e the narration :
He s?:ﬁ%

» "What a charming sight !"
1))

He exclaimed with joy that it i
Was a very charming sight.
He exclaimed with joy

what a Charming sight it ig |
He tolg with j

that | 5

3)

4)

......




i

A

53. Which of the following sentences is
the correct option to express a
probable conditign %

1) 11 were a birg, | would fly to

you. '

2) If you touch a live wire, you
will get a Shtggk.

(3) If you will ‘msad this book, you
will learn giafnmar,

4) Ulhad reachld in time, I could
have saved kér.

54. Choose "the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B
whatever he wanted / with his job.
c’ D
1) A ) B
A C 3) D
|

O
55. Choose the part of the sentence
that is grammatically incorrect ;

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C ‘ D
1) A ~2) B
3y C ' D
—
e}
56. The word 'slitheximeans :
1) lick fr?) venomous

~3) hinder 4) slide

[15/A]

S1. Fill in the blank with the correcy
form of verb :
When 1 last ............. her, she wag
deeply involved in debt.
1) have met /2) met

3) has met 4) did met

58. Fill in the blank with the correct
option:
How did the thief ...... the padlock.
,1) open
2) opened
3) had opened
4) had been opening

59. Fill in the blank with the correct
‘Modal Auxiliary' :
............. you mind lending me
your pen ? (Request)
1) Should 2) Ought
,3) Would 4) Must

60. Arrange the following jumbled
options in the correct order and
then choose the correct option

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) CP.BA AT
S
3) D,C,B,A
4) D,C,AB

[ Level-3/1304)
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o — 1/ PART =1l
amrg g/ GENERAL STUDIES

AT A, b HHET T WM 9 QF NS / QUANTITATIVE APTITUDE,

HEASONING ABILITY AND G.K. & AWARENESS

@Wﬁm‘ﬁ%maﬁ%mmaﬁaﬁmgﬁm

Dlrectld‘ﬂ Answer the following questions by selecting the most apprepriate option.

62.

63.

ﬁamm%wwwm
# I ACT e & @9l g, @
303 9F By At R ¥

1) ITR-T
2 qf3=d

3 ®
4;) F-gigEm

t@?{mzoﬁsﬁg‘&ﬁwaﬁﬁaﬂ
% qo¢ & g I g H o° A
Rada Rem § 2 go¢ & 9 &I g,
A T S A A @ A ©

1) 10 fHt Ao
212 BLIVAR
3) 13 el /guer
4) 15 At /auer

15aﬁﬂﬁ%wﬁ7aﬁa%€r

sgd‘!a‘rﬁa?rqa?f%?
1) 0 2
3) 4 4) 5

[Level-3/1304 ]
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62.

63.

If A stands on his head with his
North, it which

left hand point ?

face towards

direction will his
1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed

of the boat in still water is :
1) 10km/h
2) 12km/h

3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) 0 2) 3

3) 4 4) 5

4




4. T B X 95 Py 3
Qamﬂ.%mcﬂmﬁﬁ

% 9% my & @
- ¥ 7 W Cw

P B 2) 108
DA Gy g

65. % Mied gz wmw % CEG # TR
T FH]' ®'QPO' frar o B,
W W oawm A ww @ R
A
1) NOP 2) NOL
3) NMK 4) NML

66. OT&R EAML ¥ fem @eds s awmd

T G & 7
1) 1 2) 2

3 3 4 4

61. TF fate agye § oTid BT oo
q@ Ao H IO 7:2 8, &

Wﬂﬁﬁaﬁﬁﬁw%:
1y 7 2) 8
3) Q 4) 11
-~

2.3,10,15,26,?

-g- .

_3y .38 4) 36

{ Level-3/ 1304]

64,

65.

66.

61.

68.

Al
ﬂ [17/A

In a class of 38 students, A s
placed 7th from the bottom
whereas B is placed 9th from the
top and C gp placed exactly
between theag two. What 18 A's
position from (?-D?

1) 9th g 2) 10th

3) llth 4) 12th

In a certain code language 'CEG' is
written as 'TSR' and 'FH]' is written
as 'QPO', then in the same code
language 'IKM' is written as :

1) NOP  ~2) NOL

3) NMK  94) NML
©
i

How many m&ningful words can
be formed with the letter EAML ?

1) 1 2) 2

3) 3 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygon is :

1) 7 2) 8
3) 9 4) 11
l'!-
o)
Find the next @m of the following
number series&;
2,3, 10, 15&6, ?
1) 33 : 2) 34
3) 38 4) 36
P.T.O
i
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69. 7 AU UK ¢F B A BEe F, | g,
I B AU W T B I 6 U
oA RN & AR A R @

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 8
hours. If both the pipes are opened

a9 2 92 % [ @ & uvEn T
A® a2 Ra a1, @ W B @y
g &F H9 T A ?

and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2 9% § R) 2% g 1) 2 hours 2) 2% hours
3) 3 que i 3) 3% gug H 3) 3hows ~ 4) 3% hours
o
70. R f&h FfEw % ¥ 38 % 15 = 32, 710. In a certain pattern, if 38 = 15 = 32,
62 %91 =7 91 74 + 81 =29 &, O 62 * 91 = 7 and 74 * 81 = 29, then
T Yo ¥ 47 % 33 W AW ¥ in the same pattern the value of
47 * 33 is :
1) 40 2) 41 . 1) 40 2) 41 ke Ak
3) 38 4) B3 3) 38 4) 53
71. TR 17 RE=R, 2002 & 9fEr o, 71. I it was Saturday on .17th

q 22 RE=R, zom@r?ﬁw—wﬁ:r

December, 2002, what was the day

aq ? on 22nd December, 2004 ?
1) EEr S) gfFEr 1) , Sunday 2) Saturday
3) HWHER \2) BRCEIN 3) Monday 4) Tuesday

72, S0 W AT IR ¥ 2. The next of the series is :
Z1A, X2D, V6G, T21], ? Z1A, X2D, V6G, T21], ?
1) R8TM 2) RBIN 1) R87TM 2) R8IN
3) RB88P 4) R88M ) 3) R88P 4) R88M
q AR A '
73. iL 13. In English
m Sl & w B T anrd | o h 5 Auher of
el 7 2 S skipped in between
i % o g, adjacent letters in th i ‘
Pt At ed -0 g Prw 3 WO Rae- sentes s
F U B B e fozireftSed by one. Which of the
1) DjoTV 2) DJOSV " I‘;}l(l;g;enes observes the rule ?
S
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74, x-HY, .
Pt hg:a %ﬁ?ﬂ 4x+3y=12 14. The radius of the circumcircle of
g 3t B & the triangle made by x-axis, y-axis i
1y 2 , and 4x+3y =12 is: f%
) 2 ) 2.8 @ 1) 2unit & . g
15. a.g ﬂa’a‘ a-a v . '
& S iR .
15463 % ey q]t:mm , P 5. Find the 1¢Rst number which must
I R & oy 3 107 § be added to 15463 so that the
' resulting number is exactly
' P divisible by 107 :
;; 32 o o obe g
1 4) 16 3 71 9 s
76. W R ST ¥ P
= 3; :}‘?ﬁ:{qm 2 ';b‘j - 16. What proportion of water must be
W added to quilk to gain 20% b
o by
IEH W 20% H Aw & 7 selling it abfhe cost price ?
1) 1:8 2) 2:5

1) 1:5 © 2) 2:5

3) 3:5 4) 4:5 3) 3:5 E‘) 4) 4:5
[~

11. @& Mi¥ag i &1 4% affs  « k7.

The ratio of compound interest and

2 a% @ fe m o T 99 ' simple interest on a certain sum at
SATST <l STgUIT B the rate of 4% per annum for 2
yearsis: o _
1) 52:51  2) 52:50 1) 52:81 2) 52:50
3) 51:50 4) 53:50 © 3) 51:50 4) 53:50
7 46 78. If A, B and C enter into a
18. A% A, B ™ C i _Z-EE # pa.rtnership\wit]:lshares in the ratio
o ¥ R R @ O e 143 B 4 monts, A
5 - 2 2 :
fam 4 WE U9 A 3 ?ﬂ A " increase Ip\g share by 50%. If the
50% =gl fedn oty ad 3 o A i total profit@t the end of one year
 21.600 FOO @ A gl @, S be Rs. 21, _,thenB's share in the

_wﬁﬁnﬂm%: | pmﬁ“s:m N
1). 2,400 8@ 2) 3,600 €7 1) Rs.2, RS. 4.200
3)' 4’000 mﬁ 4) 4,200 T 3) Rs. 4,000 4) Rs.4, .

| ; J1 T \
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1) 22 W
3) 36 4) 40 TR
80. a!‘+a"/i+1*a‘r %
l1-a 1+

a o a-1
1) —— ——
) 5 ,[g) :

2 O 2
3) — .
) a-1 ) 1-a
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80.

81.

82.

83.

A man sold an article at a loss .
20%. If he sells the article for Rs |,
more, he would have gained 1§
The cost price of an article 1s :

1) Rs.22 2) Rs.30

3) Rs.36 4) Rs. 40

a"a+a—‘4n+1“a-"v isequal to:

l1-a A l+\/§ iy

a .. a-l &

1) — 2) — \

) a-1 ) 2 :
2 2

3) — 4) —

) a-1 ) l-a

Historical village Sugh is located
1 ¢ 5

1) Ambala district

2) Kurukshetra district

3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?
1) Sandeep Bishnoi

2) Rohtash Bishnoi

3) Ajay Khichad

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) §hﬂ Surjit Singh Sandhawalia

- 4) Mohit



86.

81.

—
ary FrvEmeE g X 7 Feifed
FYAt 9T :
() 9% @g & s &
i) TER @ gEE fER
deferd @, 9 gaE B 9 A R

ga?ageﬂaq‘g}a‘»’rm:
1) %ﬂﬂm\ﬁ)ﬂ@%l

2) q}aﬁmﬁl)ﬂ’a%l
3) 7 & F @ I AR T @)

g8 B
4 g 51;.v1=r(i)a?r'<(ii)Héar &
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85.

86.

81.
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The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani
3) Thanesar 4) Rohtak
Geeta Jayanti Samaroh 1S

celebrated in the month of :
1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana

Who is the Chief Commissioner of
Haryana Right to
Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) ShriVikas Gupta

Service

Read the following statements

about Sadhu Nischal Das:

(i) Hewasa Dadu's disciple.

(ii) He compiled a book "Vichar
Sagar' which is in form of

dialogue.
Choose the correct code :
1) Only statement (i) is correct.

2) Only statement (1) is correct.

3) Neither statement (i) nor
statement (il) are correct.

4) Both the statements (i) and (ii)
are correct.

P.T.0
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86, mﬂmﬂw%ﬁzﬁﬁﬁm
2 ?
5y R _2) I
3) 4) Frart

88. In Haryana, where the

89.

90.

pirﬂ‘ar ’

Breeding Centre is locat€ '

1) Pinjorew 2) panip?'

4 . i
3) Jhajjar 9 4) Bhiw?

\O
Co-§
When the ‘nHarYana state Ao
operative Agriculture and f
d Ltd. Wa;.

Development Boar
established ?
1) January, 1967
2) November, 1966
3) March, 1980

r‘u

4) January 3996
w
= .
Where iIn Earyana, the Indiaf.
Institute of In ormation Technol®
is located ?

1) Sonipat 4
2) Panipat
3) Ambala

4) Kurukshetra /
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95. FHNG™Y Hfeeee 2 71 7
1) drEd
2) difte
3) welaHt
4) T

96. ‘T +HqY - FUH HOAGT: T T -

1) &9
2) &g
3) w9
4) w9

97. FAMRMERY Fo FEHAMET: T AR - |

1) qfemt
2) QAHHT

3) TAADY Egéé

.4) T
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WWWW‘
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99.

100.

101.

AT + 5 - I R e -

1) aftE
2) e

3) 2afye
4) Zafye

0 + 997 9 &9 IO ghe: @ 7
1) 31d 39U

_2) o Porfa

3) ghafa

4) Todf:

7o WE JgEEA 4 3%, T @ -
1) FETHEAEHES:

_2) TR

3) AH:
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105. ‘ReEysed’ - o iR -
1) R + s
.2) fareg + ovek:
3) R + o=
4) iy + ot

106. amnmaﬂgdenw:wmﬁ~
1) T
,2) W
3) WM
4) TT:
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4) T Ha
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111, Tt smri #: o= afg 7

J1) FfacEey
2) FE=AcrEH

3) F=ad
4) rfert

1 P vl g 7 ;
1) Aoty 1
2) TUgE FHE) .
3) eI

4) F=E FedHRREEt

1) FEAAHG
,2) T
3) TR
4) TEIRGH!
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